80100 IR MY Al A T #E 2R

7= miiEA

ME

BRHIT

M8x1 By 4% & F R Hl Ak o

M12x1 By Optaloy #/= E 4 HIfL =

WAL

O (B )

BE:UHKK60V

B I ;EK4A

WE: 3 (X M12x1 B4 1R)
B &R : IP 67

BR:
IR R A SE RS,
BESEHE
_ -25°C £ +85°C
for electrics B
EERR :
P1 = BHEA,
1 =8 (BN)
2=HE (WH)
3=E® (BU)
4 =26 (BK)
®
I
80100-010 A 12 M8x1 45 3,5-5 1Rk 0,5
80100-020 A 20 M12x1 - 54 4-6 gL 0,75
80100-030 B 12 M8x1 28 - 3,5-5 Bk 0,25
80100-040 B 20 M12x1 38 - 4-6 Rz 0,75

© norelem www.norelem.com




